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Attempt ......... questions

1 The device converts light energy into Electrical Energy:

a. Electric Bulb
c. Photo cell

b. Electric generator
d. Electric Cell

® Rate of doing work is called:
a. Energy b. Torque
c. Power d. Momentum

3 One Mega Joule is equal to:

a.107] b.10"J
c.107 d.107J
4 The efficiency percentage of solar cell is :
a.3% b. 6%
c. 8% d. 12~

5 The work will be zero when the angle between
the force and the d1Sp1acemer3 is:

a.45 b. 60
.90’ d. 180

6 What is the SI unit of work?
a.pascal b.Newton
c.Joule d.Watt

7 One Joule is equal to:

a. IN/1m b INx Lfy
c. Im/IN  d. N’
8 Kinetic Energy is directly proportional to the
velocity of a body:
a. Square b. Two times

c. Three times d. Four times
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